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QUESTION BOOKLET

This question paper contains 170 questions. /$F I T H 170 TH & |
All questions are compulsory. / T I3 31f4ard & |
One question carries half mark only. / T I4 o T Shaet 3TTe 376 2 |

Maximum Marks : 85 AfHan 37 : 85
Time : 2 Hours Uy : 2 "o
1.  Quantity of cement required for 12 mm thick plastering to cover 100 square

metre area 1S
100 STHIET &% H 12 mm HISTS <hl WU STEd s § o el HiHe hl AT 2 -
(A) 0.30cum  (B) 0.45 cum (C) 0.5 cum (D) 1.00 cum

The coefficient of linear expansion of granite is in the range of that :

(A) Glass (B) Mild steel
(C) High carbon steel (D) Bamboo
TAT3e %1 tRaeh T Tumeh e & - g

(A) i€ (B) Hg &l %
(C) 3 e Ll (D) s %

As per the Indian Standard Soil Classification System, a sample of silty clay
with liquid limit of 40% and plasticity of 28% is classified as :
HET STeRL0T JUTTCH 3h WA HIHeh o STJAR et &l o1 Ueh THT TST&H g |

40% B qUT TATREERdT 28% Bl fichd TehaT ST 2 -
(A) CH (B) CI (C) CL (D) CL-ML

A partially saturated sample from a borrow pit has a natural moisture content
of 15% and a bulk density of 1.9 gm/cc, specific gravity of solids is 2.70. The
void ratio will be :

T-TIe o T AT Tq A9 H TTh{deh STMGAT 9 15% TIT T oA
1.9 amm/cc, 3 o1 fafimse e 2.70 &, fifea S1ara g -

(A) 0.74 (B) 0.84 (C) 0.64 (D) 1.00

A sample of wet, silty soil weighs 126 kg. Laboratory tests revealed its density
to be equal to 2.1 gm/cc. Water contents are 15% and specific gravity 2.70.
The dry density is :

Teh 375 el el < T 1 R 126 kg & | SRINTIT F&T & HieH g7 o 36eh
T 2.1 gmy/ce o ST & | ST <h AT 15% a1 foferse e 2.70 8 | I T & -

(A) 1826.12 kg/m3 (B) 1726.12 kg/m3

(C) 2100 kg/m3 (D) 1526.12 kg/m3
3 Code No. : C-463/2018/Series-A




6.  Plasticity of soil is due to the presence of mineral :

(A) Benonite (B) Quartz
(C) Montmorillonite (D) All of these
HET H WA h1 ShIU IHH TR G :
(A) dHFEE R | (B) HAR |
(C) HeHIfeHEe ? | (D) ST ot
7.  Coefficient of permeability of soil increases with :
(A) Increase in temperature (B) Decrease in temperature
(C) Increase in void ratio (D) None of these
HET T YTOTRIT OTeh -+ o |1 9T @ -
(A) A9 H SRl (B) 9U H St
(C) Tifea U ¥ sead (D) 8 O His &l
8.  Quick sand is described as :

(A) A type of sand

(B) A type of soil in which cohesion is decreased quickly
(C) A type of pure silica

(D) None of these

foraes Bug <t T it S B

(A) T JHRH A A
(B) T TR ! HeT Foraw T&s 2fieran § g & |
(C) T TR ! I fafershr @

(D) T & HIE &
9.  With an increase in Liquid limit, compression index :
(A) Decreases (B) Remains unaffected
(C) Increases (D) May increase or decrease
29 €T H S iadl o 91 quiSd Yaehh
(A) T ATATR | (B) HATHTfeId AT # |
(C) &G IR | (D) ¢ I b B |

10. Bearing capacity of soil supporting a footing of size 3m x 3m will not be
affected by the presence of water table located at a depth below the base of
footing of :

e gfem o o6 i Tets # feua Fiet 3aet i Hisgf % g 3 m x 3 m G
gl hl GATid HeT Y eRoT axwen wwTferd T B -
(A) 1.00 m (B) 1.50m (C) 3.00m (D) 6.00 m
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11.

12.

13.

14.

15.

16.

17.

Dilatancy correction is applied when observed value of N is :

(A) >15 B) =15 (C) <15 (D) None of these
SIS TeMe AN 8T 8, 919 N ol I o 2 -

(A) >15 (B) =15 (C) <15 (D) 0 O HIs &l
Minimum number of piles used under a column are :

(A) One (B) Two (C) Three (D) Four

Tereft ShicTH b = T S & S TYUTT i T & -

(A) T B) @ (C) dH (D) I

Gully trap is a device

(A) to connect house drain to underground sewer line.
(B) which is placed in the floor of bath room and kitchen.
(C) which is placed in urinals.

(D) None of these

Tefl §7 T gfeRT 2 -

(A) T STATE I YT He) TS ¥ e &l |
(B) ST S1U&H 2T feha & 31 UX ST ST 8 |
(C) i TS H TR AT % |

(D) & & F Tl

The height of wall to raised per day should be limited to if lime
mortar is used :

Ife T Wil w1 39T fopam STt 2 9« Ufd fea 3a18 I et SR & =S Rl
T oo Hifyd wat sHT =tea
(A) 1.50 m (B) 1.25m (€) 1.00m (D) 120m

Permissible bearing stress in N/mm? for hand driven rivets is :

(A) 300 (B) 270 (C) 250 (D) None of these
T YTieTd TEed o foTu 3= 9T Sfdeedt N/mm2 § & -

(A) 300 (B) 270 (C) 250 (D) ¥ 9 s &l
In case of fillet weld value of K when angle is 110° between fusion faces is :
R[S JZel o S IV I 110° Bl a9 fthole deg & Tt K H1AM 7 -

(A) 0.7 (B) 0.65 (C) 0.55 (D) 0.50
The metal added at the joint while welding is known as :
(A) Weld metal (B) Filler (C) Fillet metal (D) None of these

afegT o SR |fY W e 718 arg weed § -
(A) sesdarg  (B) Them (C) fheeerg (D) 7 9 his &l
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18.

19.

20.

21.

22.

Allowable stress in axial tension for plates, angles etc when thickness is more
than 40 mm is :

(A) 150 N/mm? (B) 144 N/'mm? (C) 138 N/mm? (D) None of these
& HIeTE 40 mm ¥ 34 Bl al, wiel, v 3Afe o fofu, 7efia a4 1H=
Fﬁ%ﬁlﬁ% :

(A) 150 N/mm? (B) 144 N/mm2 (C) 138 N/mm2 (D) ¥ & I3 &l

In a compression member, plate element may buckle locally before the entire

member fails. To avoid this, which of the following recommendations are

made ?

(1) Thickness of member is taken in terms of length of compression
member.

(2) Length of element is increased.

(3) Length of member is increased.

(4) Length of outstand is decreased.

Select the correct answer :

(A) 1,2&3 B) 1,3&4 C) 2&3 (D) 1&4

Toreht S TS H, 399 Tget foh I W 3TE%e g AU, T &9 § ©ie Tetiie

b Tehdl & | 3 AUl i o fore T & @ oo ot srqmemd FiE 8 7

(1) A 6l TS, HEIIH U hl oIwTg o Jgl § off STl 8 |

(2) Tl i TS FeTE AT R |

(3) TR <l TS TGI8 AT 2 |

(4) IAHLUE i AMETS T I B |

T I T T HINTT :
(A) 1,293 (B) 1,3@u4 (C) 24@e3 (D) 1494

Permissible bending stress for sections having thickness 20 mm to 40 mm in
N/mm? is :

39 W o fot foreh! J1erg 20 mm & 40 mm &1, N/mm? § 3= e Jfdedt & :
(A) 151.8 (B) 158.4 (C) 165 (D) 185
Permissible vertical deflection as per IS 800-2007 should not be more than
span upon :

IS 800-2007 % JIFER 3TH FHearer ferae™ e v & stferes T8 g =nfee -
(A) 325 (B) 350 (C) 300 (D) 400
Minimum spacing of vertical stiffeners in a plate girder is :

Topell e Tt H Heaier feewh e ol 0 8 HH gl @ -

(A) 0.22d (B) 0.33d (C) 044d (D) 0.55d
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23.

24.

25.

26.

27.

28.

29.

Web crippling in a steel beam generally occurs at the point where :
(A) where deflection is maximum  (B) B.M is maximum

(C) concentrated load is acting (D) S.F is maximum
forel! Wit eor o | o forufer 39 foeg w gl 8 &l
(A) faga stfreman 8 | (B) B.M 3iftrehan 2 |
(C) Hehegeh I IWTe B | (D) S.F 3tftrehan 2 |

The specific gravity of plastic generally lies between :
(A) 0.1to0.5 (B) 05t01.0 (C) 1.0tol.3 (D) 13t0o1.4

%1 fafarse e A=A BT ©

(A) 0.190.5F = (B) 0.59 1.0% =

(C) 1.08 3% (D) 138 14%d=

Araldite is a :

(A) Epoxy resin (B) Thermosetting plastic

(C) Vegetable oil resin (D) A variety of resin
2TH :

(A) T sm (B) uH@feT i

(C) aFeafd dat e (D) IS =1 T TR

The paints used on an aircraft structure are :

(A) Oil paints (B) Dry paints

(C) Emulsion paints (D) Cellulose paints

U {sh[4c H‘\‘CHI L 39T ﬁFQ\SIH dlet Y %
(A) AT (B) $FUH  (C) TR UH (D) oo™ U<d

The treatment for making timber fire resistant is :

(A) ASCU treatment (B) Abels process
(C) Creosoting (D) Tarring
ThE! I AL §H & el ITAR & -

(A) ASCU3TER (B) UTSew Ufsham (C) shistaifen (D) 2fan

The main constituent of varnish is :

(A) Turpentine oil (B) Petrol (C) Resin (D) Solvent
9T 1 I TH & -
(A) aREE A (B) g (C) (D) Hieae

The true bearing of a line 1s 34° 20' 40" and the magnetic declination at the
place of observation is 2° 00' 20" W on the date of observation. The magnetic
bearing of line is :

(A) 36°21'00" (B) 32°20'20" (C) 38°20'20" (D) None of these

&1 o Te ToReft T <A1 TS o arafareh fehAT™ 34° 20" 40" G Frarehia fespamd

2°00' 20" W g | TS 1 Jreehid fehA™ & -

(A) 36°21'00" (B) 32°20'20" (C) 38°20'20" (D) 3 ¥ g &l
7 Code No. : C-463/2018/Series-A




30.

31.

32.

33.

34.

3S.

The true length of a line is known to be 200 m, when this is measured with a
20 m tape, the length is 200.80 m, the correct length of 20 m tape is :

(A) 20.92m (B) 1992 m (C) 18.92m (D) None of these
Toret <ITe <t aTEdtres @IS 200 m §IdTS TS 8, 1 36 20 m <hl 39 § =T T I8

TS 200.80 m & 1 20 m 2T h T TS R
(A) 2092m  (B) 1992m  (C) 1892m (D) S U HE T&l

Following readings were taken during a reciprocal levelling :
P Q
Instrument near staff readingat P | 1.824 | 0.925
Instrument near staff reading at Q | 2.748 | 1.606
R.L. of P=140.815,the R L. of Qs :

(A) 140.815m (B) 140.014m (C) 141.616 m (D) None of these
AT TAEIUT o SR HHIfeTRad dTeameh fore 71 -
P Q
P T w1 ST o Tfiq 3uehwor | 1.824 | 0.925

Q W W% OfEn o gy 3uestor | 2.748 | 1.606
P&HTR.L.=140.815,Q% T R.L. 2 :
(A) 140.815m (B) 140.014m (C) 141.616m (D) T & &I &l

At the magnetic poles the amount of dip is :

T gal WA BT AF & -

(A) 0° (B) 45° (C) 60° (D) 90°

In theodolite survey a swing is called Left Swing when telescope is rotated :

(A) Clockwise (B) Anticlockwise(C) Both (D) None of these
fereht formeTeTse Tder 4 ush feam, am fegm et & & Soffeshia i gftfd fea
ST & -

(A) s (B) amTeR (C) i (D) 37 & HS T

Fat lime can be used in :

(A) Distempers (B) Lime mortars(C) Hydrated lime(D) Hydraulic lime
The ATSH <1 IUANT Bl TehdT & -

(A) fererid (B) @R ARRA (C) SeRINdgH(D) gEgifors g
Swelling of bricks is known as :

(A) Lamination (B) Chuffs (C) Bloating (D) Efflorescence
331 <h! WA hgl STl B -

(A) fHEsH (B) =%d (C) =it (D) TFAREH

Code No. : C-463/2018/Series-A 8



36.

37.

38.

39.

40.

41.

When percentage of mica present in sand is large it :
(A) Reduces strength of mortar

(B) Increases strength of mortar

(C) No effect on strength

(D) Increases strength to a smaller extent

e I T HIgehT sh ST o1 Ifawrd ser &l :
(A) I8 IR T A0 6HH T | (B) HIER 1 e s@re |
(C) Tmd 9T I3 yuTe & | (D) Ueh hHAL T H HTHL hl ST |

Fineness of cement is measured in the units of :
(A) Volume/Mass (B) Mass/Volume (C) Area/Mass (D) Mass/Area
e bl TEidT ford goprs 9 ATdl ST 8 7

(A) /5699 (B)  SeIHH/3T¥GH (C)  SF%el/5eqqH (D) SeadTH/8 %

Stretcher bond is generally used for :

(A) Simple brick walls (B) Half brick walls
(C) One and Half brick walls (D) In Arches

TR §TS I 39 |

(A) WS dari o (B) 31ef-3¢ i i |

(C) Ueh 3TR 3men 3¢ bl <ol o (D) WeEi |

The measurement is not made in square metre in case of :

(A) D.P.C. (B) R.C.Chajja
(C) Concrete Jafferies (D) Form work
A= o Hied | & feran et e wesr i

(A) D.P.C. (B) R.C.®=mH
(C) hehle BRI | (D) ®HgH [

A glass tube of 2.5 mm internal dia is immersed in 011 of mass density
940 kg/m3 to a depth of 9 mm. If a pressure of 148 N/mm? is needed to form
a bubble which is just released. The surface tension of the oil be :

Teh 2.5 mm TR SATE =l hid i ATl I 940 kg/m3 FIHH T aTel o
H 9 mm &S qoh GART AT | IT¢ 148 N/mm? T hi STTaeehdl Ueh Sereetl Sl

31eft a1 2 o foTu Bt 8 | ot 1 I53 T R -
(A) 004 N/m (B) 0.043N/m (C) 0.046N/m (D) 0.050 N/m

Municipal taxes are assessed on percentage of the net income from the
property and it varies from :
(A) 3to5% (B) 5to10% (C) 10t012% (D) 15t025%
TITICAhT L THIT I 3T o FTwTd TR 3Rh{eTd fohdT ST & 3TR I8
BT 8 -
(A) 3¥5% (B) 5®10%  (C) 10812% (D) 15825%
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42.

43.

44.

45.

46.

47.

In rails creep anchors are usually not provided at :

(A) Bridges (B) Level crossings

(C) Points and crossings (D) None of these

[T | 5h1T Tehd SATHAR 9L 21 feu a2 -

(A) gl | (B) T FHIFTE T

(C) TEZH T SITEHTH T (D) ¥ § iE &

Creep is greater :

(A) On curves (B) In new rails than in old rails
(C) Both (A) and (B) (D) None of these

(A) Thi T (B) T3 el H qurt Xt sht 3o
(C) (A) @ (B) <l (D) THH & IS el

A rail which is tapered to a toe at one end and has a heel at the other end is
called :

(A) Stockrail (B) Tonguerail (C) Wingrail (D) Lead rail

T & o8 T T T 2’ (Toe) H W fehaT T A G R W T &1 3,
HEAN 8 :

(A) RIh (B) =1 (C) T (D) g

As per IRC the camber on cement concrete road should;

(A) 1in60to72 (B) 1in45t060 (C) 1in20to24 (D) 1in12to 16
IRC o JTTER HH~ Thshic US T HER gHT AN :

(A) 60872H1 (B) 45660H1 (C) 20624T1 (D) 128161

An ideal horizontal transition curve is :

(A) Parabola (B) Circle (C) Clothoid spiral (D) Hyperbola
(A) T (B) = (C) TGS WEA(D) HAfdRIa™
The steepest gradient in ordinary condition should not exceed :

(A) Ruling gradient (B) Maximum gradient

(C) Exceptional gradient (D) Floating gradient

= iRt § rfasauran Yaurar = 8 stferes T8f g =i

(A) Tz gavma (B) 3fereha™ JeuTaT

(C) Torcteqor Saurar (D) g JEuTdT

Code No. : C-463/2018/Series-A 10



48.

49.

50.

51.

52.

53.

Light reflecting devices used to guide the driver along the proper alignment
are called :

(A) Rumble strips (B) Delineators

(C) Alternators . (D) Litterbin .

JehTITeh TIEdeh Jfaaar S fopelt grger ! Tl @ § o4 @ | MSe ! 8
HEATAT &

(A) v fgq®  (B) fefdfued  (C) 3feetied (D) ferexfsd

If super-elevation is not provided on a horizontal curve of a highway then on
which portion of the road pot holes are likely to develop ?

(A) Outer edge of road (B) Inner edge of road

(C) Centre of road (D) No where

Ife ferelt Tommt & &fas ash W TR & fean w7, @ gew & forg wm A
& S hi TEITEAT BT 7

(A) TSH b I HR W (B) H<H o ICEA R W

(C) HSH o A W (D) =gl ot 1

A vehicle travelling on dry, level pavement at 80 km/hr, had the brakes

applied. The vehicle travelled 80 m before stopping. The coefficient of
friction that will be developed :

Tereht ST TdeT e W T ATEd 82 km/hr =l Tifd & =T 18T 8, ITH sk STl
T | 98 %h % 8 80 m T =T | fIenfira &M aret eur T[urieh g1 -
(A) 0.325 (B) 0.315 (C) 0.345 (D) 0.355

Assuming the safe stopping sight distance to be 80 m on a flat highway section
and with a set back distance of 10 m. What would be the radius of the
negotiable horizontal curve ?

fopelt HaTe ToMT @UE W 80 m YiErd gfeewrd o gl wid T den @Y & 10 m
61 TTET=R gl o, A1 &S 5k o1 FHRIISH! 374 SATE 91 8T 7
(A) 800 m (B) 160 m (C) 80m (D) 70 m

A summit curve is formed at the intersection of a 3% up gradient and 5%
down gradient to provide a stopping distance of 128 m, the length of summit
curve needed will be :

3% FEd JIAUIAT qAT 5% =1 IIrd1 o Tf=eie W Teh Iqd sk s-aT 2 | 128 m <hl
form g0 @ o ToTe sTrarees 3T a3k <l AT B

(A) 271 m (B) 322m (C) 298 m (D) 340 m

A rapid test to indicate the intensity of water pollution is :

(A) B.O.D. (B) Dissolved Oxygen

(C) M.P.N. (D) Total Dissolved Solids

ST TGUT <hl el <hl SR T g THEAV & -

(A) B.O.D. (B) gfora 3AfadisH (C) ML.P.N. (D) Het gfetd 3
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54.

5S.

56.

57.

58.

59.

The maximum safe permissible limit of fluorides in drinking water is :
YISl § FIRISE! oh! SAfeehad Fuietd 1A~ o & -
(A) 0.5 mg/l (B) 1.0 mg/! (C) 1.5mg/l (D) 5.0 mg/!

The presence of algae in water indicates that water is :

(A) Hard (B) Soft (C) Acidic (D) Turbid
I | aret (Teht) sh uferfa guiidt 8 foh e
(A) HoRE | (B) g7 | (C) =i | (D) dfpeA® |

The bacterias that can survive without oxygen are called
(A) Faculative (B) Anaerobic (C) Aerobic (D) Furobic
o TRl b Sfiferd 18 Tepdl aTet Sfee e shgettd & -

(A) ®goiled  (B) TAWlE®  (C) Wifesh (D) W
The most important water quality parameter for domestic use of water is :

(A) Carbonate Hardness (B) Non-carbonate Hardness
(C) Coliform group of Organism (D) Chlorides

ST o Te] 3TN o folt e Tgwyul Siet T[Uradl HTHEUS % -

(A) HIEHE HIAT (B) fom aMe w3ran

(C) STI-SH I HIfAHIH TE (D) FARTSSH

Air relief valve in water supply pipe lines are provided at :

(A) Pipebends (B) Pipejoints (C) Summits (D) At low points
STl UG UTEd ATeH1 § a1y feriee shute @ e S | -

(A) TEISGEW (B) WEYSIGIW (C) Rrerw (D) fom feigati w

A city gets water supply of 15000 cubic meter per day, water is treated with
a chlorine dosage of 0.5 ppm, for this purpose the requirement 25% bleaching
powder per day in kg would be :

Teh &L H Ui fed 15000 o7 Hiet St S1gf Bt & | St o1 SU=R 0.5 ppm FARA
SIS | ToRalT AT 2 | 39eh foTu, Stmawareh 25% fortates 9ot kg  wfd fe &mm

(A) 300 (B) 75 (C) 30 (D) 7.5
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60.

61.

62.

63.

64.

If pH value of solution A is 4 and that of solution B is 5, then the hydrogen
concentration of solution :

(A) A is ten times higher than that of B.

(B) B is double than that of A.

(C) A is ten times lesser than that of B.

(D) A is double than that of B.

Ife faer A %1 pH A 4 a2 faer== B %61 5 81, 1 foaore o grggier 91
(A) A1 B o1 H g THT S=ad g |

(B) B T A <l T § €1 THT 81T |

(C) A %1 B I qoAT | g THT HHaL EHT |

(D) A %1 B &I qeAT | g AT &1 |

Which of the following compounds is used in Algae control ?

(A) Ferric sulphate (B) Calcium chloride
(C) Copper sulphate (D) Ferric chloride
Starret TeEor o fofu fae | & shF &1 Fiftres 39 d e S g ?
(A) i Tethe (B) Hicyrm FIEe
(C) IR The (D) Wi FAES

Bacterias in sewage are mostly :

(A) Anaerobic (B) Pathogenic (C) Saprophitic (D) Parasitic
HASTA H ST JTTerehierd

(A) TfeF e 2 | (B) UAIS{h B & |

(C) FTETEiesh B € | (D) el B & |

A sample of sewage is estimated to have a 5 day 20 °C BOD of 250 mg/1. If
the test temperature be 30 °C, in how many days will the same value of BOD
be obtained ?

(A) 1.5 days (B) 2.5 days (C) 3.3 days (D) 7.5 days

Toreht TeTSTar T @1 3T 5 T 20 °C BOD 250 mg/1 fopam T | aifg wlieror
A 30 °C &1, a1 feha feai § BOD oh1 I1€ 9 U= Siree 7

(A) 1.5feAt (B) 2.5fet (C) 3.3 fedt (D) 7.5 fedi

Shallow ponds in which dissolved oxygen is present at all depths are called
(A) Aerobic lagoons (B) Aerobic ponds

(C)_ Faculative lagoons (D) Faculative ponds

3Ye ATeTel H STal gietd HAfeiier ¥t Teusai # HiS[g &, haeild & :

(A) IRISE o (B) IS AT

(C) TFpaifed o (D) HFeifed aree
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65.

66.

67.

68.

More the temperature more will be biochemical activity, but the bacterias die
if the temperature is more than :

(A) 50°C (B) 40°C (C) 30°C (D) 100°C
TATIH e &1 1 ST fshamsfierar 31fee gt 8, T See e 7 91d &,
Ife quEE

(A) 50 °C & 3fereh g3 (B) 40 °C § 31f¥res g3

(C) 30°C & 37146 g1 (D) 100 °C & 3feres gt

The resources in a construction project are made up of :

(A) Office staff

(B) Construction materials like cement, brick etc.

(C) Office space

(D) Skilled and unskilled manpower

famio afEeAET f gEE SE B @

(A) IATTHE &6 5

(B) Tomior wmmht S fop #fitie, S 3carie =

(C) AT &M &%

(D) A qUT HHIA TS 1 o

In PERT technique the critical path has slack equal to :

(A) Zero always (B) Positive (C) Negative (D) Zero or Negative
93 (PERT) dehieh | shifceh 9 T efiHTo fi= o arer i 2 -

(A) BHIT  (B) YATCHS (C) FHUTcH (D) [ AT SHUMHS

During the construction period, price variation clause in contract caters to :
(A) Increases in rates of only important materials

(B) Variation in cost in materials element, labour element and petrol — oil-
lubricant element

(C) Variation in total cost of project on an adhoc basis
(D) Rate of filtration

frator shret % SR EfereT B Hed aiterd <t 31d Serdt @

(A) had Hgwyul AU % g H S |

(B) @mft o<, s1fieh o<al U1 U2 — dct — Tgeh dwd <h! ANTd B Uiea |
(C) e YR W UTRISHT i et TTd B qieaH |

(D) fheamm I T |
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69.

70.

71.

72.

73.

74.

If for a activity optimistic time is 1 day, pessimistic time is 8 days and most
likely time is 3 days, the expected time is :

(A) 3.5 days (B) 3.6 days (C) 3.75days (D) 4 days

Ife fopet SrisharTa & foru, armmene) aux 1 fea, Froemendt vw 8 o aen waifees
Hured wag 3 T & d aiferd ww g

(A) 3.5FeH (B) 3.6TeH () 3.75f@ (D) 4f@

A self recording rain gauge records :

(A) The cloud cover (B) Snowmelt

(C) Rain fall intensity (D) Cumulative depth of rain fall
Teh T e 997 AT &1 hidT &

(A) HETE (B) Tewgraw

(C) ayur cffera (D) 9NUT <t =Rt TR

Duty of canal water is calculated :

(A) Only at outlet

(B) Only at head works

(C) At any important point on the canal system
(D) None of these

TEX ST ok i <hl UM ShI ST B -

(A) hadt e

(B) hadl 88 T9H T

(C) Tex yomett & foreft off mamarof fomg

(D) 3T & IS &

Which of the following fluids can be classified as Non-Newtonian ?
(A) Kerosene oil (B) Diesel oil

(C) Human blood (D) Tooth-paste

1 5 & fore O /5a ol TR-=EITE < &9 | afieha fohall ST Tehal 3§ ?

(A) R T (B) eN@dad (C) AHa @ (D) T U

The pressure, in metres of oil (sp. gravity 0.8) equivalent to 80 m of water is :
T (0.8 Tarfse ) 1 WX T AT 80 m 5Tt o THIH ¢

(A) 64 (B) 80 (C) 100 (D) 88

If the friction factor of the laminar flow through a circular pipe is 0.1, Reynold
number will be :

¢ feret TR I1SY H & W& YT 1 990 7077 0.1 2, Tl HTee T 1T -
(A) 2000 (B) 320 (C) 640 (D) 64
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75.

76.

77.

78.

79.

80.

81.

If the error in the measurement of head in a V notch 1s 1%, the error in the
measurement of discharge would be :

e fopell V = o 3fid w1am 6 3 1% 71, @ Freewor wem o 7fe gt

(A) 1% B) 1.5% ©) 2% (D) 2.5%

When the water surface coincides with the top edge of a rectangular vertical
gate 40 m (wide) and 3 m deep, then the depth of centre of pressure is :

I A Fag Tl =R Fed g 40 m =T 99T 3 m T8U o Y R F FHTd 8l
1 T8 heg; I TTETE & -

(A) Im (B) 1.5m (C) 2m (D) 2.5m

The turbine suitable for low heads and high flow rate is :

(A) Pelton wheel (B) Francis (C) Kaplan (D) All of these
e 3fis a2 3= vaTg g % foTe SugeR Ers ®

(A) VoA =@ (B) Wik (C) FHw=H (D) A et

When a block of ice floating on water in a container melts, the level of water
in the container :

(A) Rises (B) First fall and then rise

(C) Remains the same (D) Falls

STel fopeft T T STe7 WX R 9k 1 @ve fUreretar & |1 O H S b1 &

(A) 33aT? | (B) Ugat firar 8 TR w331 2 |
(C) TR ST 3 | (D) AR |

A rubber band is elongated to double its initial length. True strain will be :

Teh TR 9 1 IHeh! TR SIwalTs | 1 AT deh T L ot TS T | 35ehl Tl

(A) 0.500 (B) 0.893 (C) 1.00 (D) 0.693
A system of coplanar forces is equilibrium when :

(A) Force polygon closes (B) Funicular polygon closes
(C) Both (A) and (B) (D) None of these

Teh THATT Sl ohl JUTTell ATTEee 1§ 8 a9

(A) o SgYe ferar 2 | (B) T 5By ferarz |

(C) (A) T (B) TH (D) ¥ & HE T

The force of 6 kg is just sufficient to move a body and the angle of friction of
the body with the surface is 45°, the weight of the body will be :

fertht T o1 faenfia o & foTT 6 kg 1 a1 Sieh 9T & 371 Tag ¥ fuvg &
ST 10T 45°, 39 fUvg o1 YR B -
(A) 6\2 (B) 82 (C) 6kg (D) 4.5kg
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82.

83.

84.

85.

The ratio of moment of inertia of a circular plate to that of a square plate of
equal depth is :

(A) Lessthan1 (B) Equaltol (C) Greater than 1(D) None of these
THT &S hl Teh JAThR Wi TUT Teh TTHR e oh FScd TV o STIC & -
(A) 199 (B) 1HsUR (C) 1@k (D) 0 A B &I

If the Young’s modulus of elasticity of material is zero, it means that material
1s

(A) Highly elastic (B) Plastic

(C) Incompressible (D) Visco elastic

¢ Torefl TaTel <A1 A SCATET HTUTeh I &, Al 39T 37 IE Toh 9aTY -
(A) 3 IR R | (B) wEH 7 |

(C) IrEdiga e | (D) forpl ymer 7 |

A horizontal beam carrying uniformly distributed load w/unit length is
supported with equal overhangs a on both sides of supports, the supports are
at a distance b apart as shown in fig below. The resultant bending moment at
the mid span shall be zero if a/b is :

w/unit length

Teh Afas 19 0 foraiid YR w/ghTs oIS 987 T &1 8 | I8 3MUR o gHi 0l
FHT 3TeaTeT a o WY ITErd § | ¥ SAUR = H g2 3198R b g § geferd
2 | afoTt SR 3TET He <t W I BT AT a/b ® -

wew et

A A A Y A 4 \ 4 A 4 y A 4 A

a I b I a
(A) 3/4 (B) 273 ©) 12 (D) 173
Two beams carrying identical loads, simply supported are having same width

but beam A has double the depth as compared to beam B. The ratio of elastic
strength of beam A to that of beam B will be :

<l SfH Th S W <l I L 7 | YgTetteerd, fomehl =lierg #a M €, wg s
AR TETE BHRI AT H S T 2 | S A F TeImeydr 9 1 B o T
(A) 2 (B) 4 ©) 12 (D) 1/4
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86.

87.

88.

89.

90.

In a simply supported beam of length L carrying a uniformly distributed
increasing load from zero at right support (B) to W at left support (A). The
S.F at B is equal to :

(A) WL/6 (B) WL/3 (C) WL (D) 2WL/3

U JGIATeSd o 6 T8 L 8 S TheHH &9 ¥ foaid sgd g 9R arfed
A (B) W 0 O 9T¢ 1o (A) W W ol 987 S &I 2 | B W S.F. &1 0=
TR 3

(A) WL/6%  (B) WLA3%  (C) WL (D) 2WL/3 %

A simply supported beam AB of length L carries a point load W at point C at
a distance a from A and b from support B. The maximum deflection lies at :
(A) Point B (B) At mid span

(C) Between B & C (D) Between A & B

T PG S0 ABH a5 L2, Mg CRIM AT “2” U Raur BE “b” gl
T U foig MR W g R @ R | rferska g smar 2 -

(A) g B™ (B) #ex forgfa w

(C) BdYT C %0 (D) AU B %A

Two beams of equal X-sectional area are subjected to equal bending
moments. If one of beam has a square section and the other has circular
section, which section will be economical ?

(A) Circular (B) Square (C) Both (D) None of these
U X-SHRA SABA hi Qf STHI T UM b STTE0] TR =T | Al 370 9 T

T 3 STIeRR A GHL 31 TR HaeT &I Al hi- &1 e fohhrId] g ?

(A) @R (B) wER (C) M (D) ¥ & FE Tl
The Moment of Inertia of an area is always least with respect to :

(A) Vertical axis (B) Bottom most axis

(C) Radius of Gyration (D) Central axis

Teret &1 <hT STecal JATE! gHT hH & A BIAT & 35

(A) e 38T o G (B) T® et 3787 & Amer

(C) aftymor 3 & e (D) 51T 3187 < G

A Cantilever beam of rectangular cross-section is subjected to a concentrated
load W at is free end. If the width of beam 1s doubled, the deflection at the
free end as compared to earlier case will be :

(A) 8 times (B) 4 times (C) 2 times (D) half

Teh TRIATSIR ST ~hTe ATe] shreiToTa S T Ueh Hehfrgeh Y W 3Heh o i
TR T R | Al offm <ht e o T < e ar wem fefa it et § e

(A) 8T (B) 4T (C) 27 (D) e
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91.

92.

93.

94.

9s.

When a rectangular beam is loaded longitudinally, shear develops on :

(A) Only on vertical plane (B) Every horizontal plane

(C) Top fibres (D) Bottom fibres only

e Teh HAATRR o1 T8 <hl fewm 0 wifta foram Sie at s1oequr 3c9—1 | -
(A) HId T qAT T (B) @+t &frt et o

(C) < B W (D) aet A=t wEs W

If a stable simply supported beam have roller support at one end then the other

end will be :

(A) Free (B) Hinged (C) Fixed (D) On rollers
e Tl ygTefrara oim o ueh iR W ek 3raera 8 af 311 faw g

(A) H& (B) fesis C) fer (D) Tl W

The radius of Mohr’s circle for two unlike principal stresses of magnitudes p
1S :

(A) p (B) p/2 (C) pA4 (D) None of these
p TR 3 € STEHM & Tiaaal foT¢ Higt % I ol 1™ ST :
(A) p (B) p~2 (C) p/4 (D) ¥ ¥ I3 TRl

Steel column pinned at both ends has a buckling load of 200 kN. If the column is
restrained against lateral movement at its mid height, its buckling load will be :

gt il o o fopu g Wiel et | SehfeltT YR 200 kN B | Afg it i qifyde
g o faeg 3T 79T ST I Ueh! ST dl Hehl Sehiol W I

(A) 200 kN (B) 283 kN (C) 400 kN (D) 800 kN

Euler’s formula is not valid for mild steel column when slenderness ratio is :

(A) More than 80(B) More than 120(C) Less than 80 (D) None of these
R 1 ¥ g WA hHicH o [1¢ T&l 81 ST 2 T8l T 3TI 2 -
(A) 80T 3Afy® (B) 1208 A% (C) 80T HH (D) TTH & HIg &1
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96.

97.

98.

99.

The force in the member CD of a truss as shown below is :

60 kN
D B
60 kN
(A) 60 kN (Tension) (B) 100 kN (Tension)
(C) 30 kN (Compression) (D) Zero
e g 317 fopefl T8 % CD TR WaA # -
60 kN
D 2B
Y60 kN
(A) 60 kN (=) (B) 100 kN (=)
(C) 30 kN (Fdte) (D) I

A copper alloy wire of 1.5 mm dia and 30 m long is hanging freely from a
tower. The elongation due to its own weight is :
T 1.5 mm SH TAT 30 m T TTH T 1 a1 Jod €9 & fohefl TaX § Ah T

T ? | 3Heh W63 o YR L&Y SIHiehv 2
(A) 0.6 mm (B) 0.9 mm (C) 0.45 mm (D) 0.30 mm

An axial pull of 20 kN is suddenly applied on a steel rod of 2.5 m long and
1000 mm? in cross-section. Take E = 200 GPa. Strain energy in rod will be :

(A) I0kNmm (B) 20kNmm (C) 40 kNmm (D) None of these
foreft 2.5 m TS @ 1000 mm?2 o ITTIEA-HIC Tt Wit hl B W 3T 20
kN =1 378 fg=rma TR 701 | E = 200 GPa oid §C B | faehid Sl a1

(A) 10kNmm (B) 20kNmm (C) 40kNmm (D) 3T & IS &l

Maximum shearing stress in a triangular section is times average
shear stress :

foreft Treniofia whre 4 Stftreran STawqu Ufdeer, 3T 3TEd 3T9EqT Ufdes i

TR |
(A) 12 (B) 4/3 (C) 3/2 (D) 2/3

Code No. : C-463/2018/Series-A 20



100.

101.

102.

103.

104.

105S.

A circular shaft of 50 mm dia is required to transmit a torque from one shaft
to another. If the shear stress is not to exceed 40 MPa, the safe torque is;

T 50 mm ST 3 JATHR WATFE b G Teh WATFE & GHL WATR H TAT0] SAHTAN
Torer ST 2 | 9 3THETYT St 40 MPa € &l Sl &l dl gued Serel &,
(A) 0.882kNm (B) 0.982kNm (C) 1.982kNm (D) 2.00 kNm

As per IS 456 recommendations the total thickness of Flat slab should not be
less than :

IS 456 sl SETAT o JTHR fohelt TUTe wie i et Hiers 7= T o1 78 gt
=T ;

(A) 8.5cm (B) 10cm (C) 12.5cm (D) 15cm

The maximum value of span/depth ratio will be highest in case of :

(A) Cantilever slabs

(B) Simply supported slabs spanning in one direction

(C) Continuous slab spanning in one direction
(D) Continuous slab spanning in two directions

T/ S1aTa o1 SAferehan T = o fofw I=raw grm -
(A) FfAR =T

(B) U feun # fowaniia SgTetfrad wie
(C) U= feen # et wad wie

(D) < feum B foafia waa =i

From limiting deflection point of view of deflection, use of high strength steel
results in :

(A) Reduction in depth (B) No change in depth

(C) Increase in depth (D) Increase in width

fagrmr % wiwia fadmor o foam foig & = wmmed Wit &1 swi wftonfid gar 2
(A) TTEUE § HeE (B) &S T his Yiadd T&l

(C) &S T Fe&T (D) <ISTS T &1

A column can be made of plain concrete if the unsupported length does not
exceed the lateral dimension by :

(A) Fourtimes (B) Six times (C) Eighttimes (D) Twelve times
Teh ShicTH ol TTC shehie O i foram ST Temar § Ife 3 - 3aaifrag ovag, a9
formn & aferes &t B -

(A) =R (B) ®:TT (C) IS T (D) =@ T

As per IS 456 recommendations the thickness of footing edge on soil should
not be less than :

IS 456 1 STET h STTHR F&T T BT T ! HILTE FH § A T&1 gHT A1eT -
(A) 10cm (B) 12cm (C) 15cm (D) 20 cm
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106.

107.

108.

109.

110.

111.

The main reinforcement of RC slab consist of 10 mm bars at 10 cm spacing,
if 10 mm dia bars are replaced by 12 mm dia bars, the spacing of 12 mm dia
bars be :

RC %18 &1 &7 T8 10 cm 3= areit 10 mm 3 i &1 8 | ¢ 10 mm
Y hl Bl ol 12 mm TH Dl 8 g [T JTal 12 mm Bl ol ST T
(A) 12cm (B) 14cm (C) 144cm (D) 16 cm

The minimum strain at failure in the tensile reinforcement (Fy = 400 MPa) of
RCC beam as per Limit state method is :

Hiftra s7aen fafer & 1gaR RCC &9 & @94 9eei (Fy = 400 MPa) H 9%ed T
%A A [ohd & :

(A) 0.0020 (B) 0.0028 (C) 0.0037 (D) 0.0045

In Limit state approach spacing of main reinforcement controls primarily :
(A) Collapse (B) Cracking (C) Deflection (D) Durability
Hifora STew AWM U g& Jee i 3T=e Seifieha: Fafd g

(A) et (B) shfbmsl (C) fa@umst (D) fehrew =

As per ultimate load theory, stress in steel is directly proportional to :

(A) The end of plastic range (B) The elastic yield point

(C) The crushing of steel (D) The middle of plastic range
= IR g o AR Wi § fdael FHard! 8idT &

(A) s 9Ud 6t guTiY & (B) ScATEY U foig %

(C) Tt = UgeH = (D) TAfeeeh 9Ud o HET &

A brick masonry wall of nominal thickness 200 mm carries a axial load of
2 kN/m and another load of 19 kN/m acting at an eccentricity of 45 mm. The
resultant eccentricity and eccentricity ratio are :

T g2 ¥ T S frmeht Anfira 9ierg 200 mm 7, 378 R 2 kN/m 987 St &
AT Teh 37 WK 19 kN/m, 45 mm Icehi-<ehdl W HihT 8 | TROTHT IJcehfaehdT qeim
Jcoh{~5ehd] ST STUTA &

(A) 19 mm, 0.95 (B) 19 mm, 1.00 (C) 22 mm, 1.10 (D) 24 mm, 1.20

Shear span is defined as the zone where :

(A) Bending moment is zero (B) Shear force is zero

(C) Shear force is constant (D) Bending moment is constant
AT TR =t 39 &3 § uftTivd fepam Sirar & STa

(A) e O IR | (B) 3199V 5 I 2 |

(C) &Y 51 fRR R | (D) &b ATl fRR 2 |
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112.

113.

114.

115.

Consider the following statement: Percentage of steel for balanced design of
a simply supported rectangular section by limit state method depends upon :
(1) Characteristics strength of concrete

(2) Yield strength of concrete

(3) Modulus of elasticity of steel

(4) Geometry of the section

(A) 2,3&4 B) 1,3&4 ©) 1,2&4 (D) None of these
1 %y W o= il : =ifira stawen fafy < gr & Jgeiftad TR @ve
&I Tqferd festre & foe et 1 wfersraan fasfik et 2 -

(1) hehie <t emrerfures amef W (2) Hehle 6l quve gl |

(3) IS hl TITEAT HITH T (4) @Ug T SATHTd |

(A) 2,3da14 (B) 1,3du4 (C) 1,204 (D) THH DR T8I

In case of inclined stirrups at 45°, the maximum spacing should not be greater
than :

(A) 0.75d

(B) d or 300 mm whichever is less

(C) 0.75 d or 300 mm whichever is less

(D) 300 mm
45° Y Id TAThI o 1T ATRIhaH 70 1 8 S1er 81 8H1 =iy -
(A) 0.75d (B) d 31300 mm S ft %9 &

(C) 0.75daM300 mm<TfiwaE (D) 300 mm

Critical section for shear design as per IS 456-2000 from face of support
where support offers compressive reaction is :

(A) Atadistance d (B) At face of support

(C) Atadistance 0.75d (D) None of these

IS 456-2000 o AR foequr fsmsa o foTu Taets ®oreh & STl 3raers auied

gfdferan Ica—1 Star 8, Topfesrar @e

(A) dgii |7 | (B) AT HeoTeh W2 |

(C) 0.75dTH =R | (D) 398 8 1 Tl

A R.C beam 1is subjected to the following Bending moment
due to dead load 20 kNm, due to live load 30 kNm, due to seismic load

10 kNm. The design B.M. for limit state of collapse is :
T R.C. s W ffeiRaa s STl o T 31fsRa 9 % R0 20 kNm,

T H h ROT 30 kNm), ehdt 9 3 HROT 10 kKNm, Shedl <hl Hifa Ta%d1 o
%’TQ B.M. l\gGl S % :
(A) 60kNm  (B) 75kNm  (C) 72kNm (D) 80kNm
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116.

117.

118.

119.

120.

For two way slabs of span up to 3.5 m with HYSD bars the shorter span to
over all depth ratio  may be assume to satisfy the deflection limits for loading
class up to 3 kN/m? for continuous slabs is :

HYSD ®gi % |19 3.5 mﬂ%ﬁﬁﬁmﬁﬁwﬁlﬁa%%ﬁg’m TTEUS 1 T
e | ST, Hdd T o T 3 kN/m2 deh SIS FATd shl for&iqor Eir <l

Hg% A 1T HTHT ST Fehd] %

(A) 40 (B) 32 (C) 35 (D) 30

Drift method of tunneling is used to construct tunnel in :

(A) Soft grounds (B) Rocks

(C) . Self-supporting ground (D) Broken grounds

eHter shi fgure ferfer <1 Swerm et fmion o Tepan ST @ -

(A) WHBS’ER ' (B) FgHi W

(C) w@-3aaAftard U8 W (D) @fed I8E W

The most suitable soil for compressed air tunneling is :

(A) Silt (B) Sand (C) Clay (D) Gravels
c- Q’I‘I HQH d“lﬂq’d ]EI_ET

(A) g (%7 B) @ © (D) e

If the deflection at free end of a uniformly loaded cantilever beam is 15 mm
and the slope of deflection curve at the free end is 0.002 radians, the length
of the beam is :

e ThETT T § Wi AT i 3 e R RS 15 mm 2 9o ge R
o faerauT =13k i @1 0. oozi%aq%a‘raﬁmﬁawﬁ%

(A) 0.8m (B) 1.00m (C) 1.2m (D) 1.5m

If the bending moment diagram for a simply supported beam is of the form,
as given in figure below, then the load acting on the beam is

X y l z

e

(A) A concentrated force at y.

(B) A uniformly distributed load over the entire span
(C) Equal and opposite moment applied at x and z
(D) A moment applied at y.

aﬁ%ﬁmﬁg@ﬂﬁﬂaﬁnﬁwwmﬁmméﬁaﬁﬂmaﬁm
HI T :

X y l z

]

(A) y W T Hehlgd oA

(B) wrqut fored R Wt weh Ty foraftd Wi
(C) x TUT z T TR S et T et
(D) y TSR Teh STt
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121. Which colour was commonly used in Harappan pottery ?
(A) Purple (B) Buff (C) Blue-green (D) Yellow
B <hl TGHTS H hiH T1 T1 A=A ST fepat T/ ?
(A) ST (B) % (C) dren-gu (D) diem
122. Who was the first to become a Buddhist nun ?

(A) Gautami (B) Sujata (C) Mahamaya (D) Yasodhara
T Stg gt s areft @ off ?

(A) et (B) gdal (C) wEm™mrn (D) F=ME
123. The largest number of copper coins were issued by the

(A) Shakas (B) Greeks (C) Kushans (D) Satavahanas
8 91 91 1 q19 o feeh forgeh g I fru @ & ¢

(A) W (B) % (C) Hu (D) HrdqdTEA
124. Which school of the philosophy does not recognize the existence of God ?

(A) Mimamsa (B) Samkhya  (C) Vedanta (D) Advaita
TIITE <hl 9 H) IRET S o 31{Edcd bl A1 &1 hidl ?

(A) HiwrE (B) @& (C) e (D) 3Hgd
125. Who said “Kingship knows no kinship” ?

(A) Balban (B) Razia Sultan

©) Minhaj-us—Si;aj ’ (D) Ibn Battuta

ferer gt ot fop “feRmTiRrg foreft fehmTira <t &1 Slt” 2

(A) dcTed (B) = el

(C) foersi-3u-fow (D) 31 Sl
126. In which year was the Ryotwari system introduced ?

raart wer form o Sy i g ot 7

(A) 1803 (B) 1820 (C) 1825 (D) 1905

127. Which of the following revolted first against the British ?
(A) Santhals (B) Rampas (C) Mundas (D) Khasis
forfest = foreg Tewem o= & @ fopem forgig fepam e 7

(A) |UTA (B) THI™E (C) Trerat (D) @Iyt

128. Lala Lajpat Rai was beaten to death for protesting against the
(A) Jallianwala Bagh Massacre (B) Gandhi Irwin Pact

(C) Simon Commission Tﬂ%D% None of these
ATAT TSI T i Tehereh foreeg, et foTe wred e ier mm e ¢
(A) SfeTTETar ST SHEER (B) el stfoq |y
(C) HTEHT HHIIH (D) ¥ ¥ IS &l
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129.

130.

131.

132.

133.

134.

135.

136.

The Kaimur Hills belong to the

(A) Satpura Range (B) Vindhya Range
(C) Aravalli Range (D) None of these
X <! TRTISAT Hafod & -

(A) "ager oot & (B) forsmaofi@ (C) swraeft oot 4(D) 370 @ i &

‘Hunza’ is a tributary of the river

(A) Indus (B) Ganga (C) Brahmaputra (D) Godavari
g %F&rq'cﬁaﬁmq'ﬁ% ?
(A) fay (B) M (C) RIgA (D) et

Which layer of the atmosphere provides ideal conditions for flying aeroplanes ?
(A) Troposphere (B) Stratosphere (C) Ionosphere (D) Exosphere
SIIAUSH s i T T IREM! Sl IgH % forw 3mreet uffeurd ygm et 7 7

(A) aAvmsd (B) @AM Ted (C) IRAAsA (D) el oA

“Hutti’ in Raichur district of Karnataka is famous for
(A) gold-fields (B) coal-fields (C) copper-fields (D) iron ore deposits
hieeh o T ol § “g&t” fopm felu uferg & 7

(A) @i e (B) s aEl  (C) HMEE (D) <ig 3TEh a

Jayakwadi Dam is built on the river
(A) Krishna (B) Godavari (C) Cauvery (D) Ghataprabha

SRIhaTel sty fopg 7 W ffdfa fer mn ® ¢

(A) FHm (B) e (C) =l (D) =eyH

Which of the following Iron and Steel plants is not a Public Sector Enterprise ?
(A) Jamshedpur (B) Bhila‘i’ (C) Rourkela (D) Durgapur

e § 9 19 91 78 U9 39T 99 Ueh Hesii-eh &7 SUshH 8l & 7
(A) STHRIGE (B) Tirems (C) TTehedl (D) TR

Which of the following is considered as a renewable source of energy ?
(A) Coal (B) Petroleum
(C) Nuclear power (D) Solar power

frferfiaa @ & =1 |1 s Gl Sl |id AHT TR 7
(A) Il (B) Ugiform (C) =ik wifdkd (D) &R wifard
In which state was India’s first cotton textile mill established ?

(A) Gujarat (B) Maharashtra (C) Tamil Nadu (D) West Bengal
fore U= o YR 1 Ugelt hiea deerset firet Terfua o1 TS oft ¢

(A) TSA (B) WaNISg (C) daftrerTg (D) dfvaw e
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137.

138.

139.

140.

141.

142.

The chief source of Hydrocarbons in the air are

(A) Industries (B) Motor vehicles

(C) Fertilizer units (D) All of these

a1 T EEEhISHI o J&J €Id &

(A) 3T (B) HWixa®d  (C) 3 sohrsal (D) d &l
Mount Etna, an active volcano is in

(A) Philippines (B) Italy (C) USA (D) India

Teh Hish SATATIE! AT VST B

(A) Trefidied (B) geefi® (C) JudaTH (D) WA H

Who among the following was the chairman of the States committee of the
Constituent Assembly ?

(A) Dr. B.R. Ambedkar (B) Jawaharlal Nehru
(C) Dr. Rajendra Prasad (D) Sardar Patel
frefeTiea o & = |faum a1 i T |fufa s sree o ?
(A) . 1.3, =g (B) SETEETE g€
(C) . Tskg JETg (D) SR 9

Which one of the following schedules of the Constitution of India deals with
allocation of seats in the Council of States ?

(A) Third schedule (B) Fourth schedule

(C) Fifth schedule (D) Sixth schedule
frefafad 4 @ gfagm 6t ®F & SEE TsT qiug | il & dcar d g
& 7

(A) el s (B) =il gl (C) wiereli 3y (D) ool s

In which one of the following states, it is not constitutionally obligatory for
the Governor to appoint a minister in-charge of tribal affairs ?

(A) Bihar (B) Madhya Pradesh

(C) Odisha (D) Jharkhand

71 4§ fohe T U9 T TsodTed b Tt STl HTHel o Teh T9RY Jat <t fgfar
T T SrfaEa @ 2 7

(A) TR (B) WA ¥  (C) 3ifem (D) 9GS

Which one of the following states does not have Vidhan Parishad ?

(A) Bihar (B) Maharashtra (C) Rajasthan (D) Uttar Pradesh
fre 4 9 fore wep U= A T aftee & @ 2
(A) fozr (B) WERTS (C) Toea™ (D) WA

27 Code No. : C-463/2018/Series-A



143. The basic regulatory authority for mutual funds and stock markets lies with the

(A) Government of India (B) RBI

(C) SEBI (D) Stock Exchange
RI3TE B TAT Tieh HIehe o [oTT YA Tetedt AT ffea 2 -
(A) YRd TTHR & 9T (B) RBI % U™

(C) @&t (SEBI) % 9™ (D) Wi Tadasl o UTH

144. The Headquarters of ‘OPEC’ is at
(A) Vienna (B) Kuwait city (C) Algeria (D) Tehran
3% (OPEC) %1 J&ITH &
(A) fedmd (B) FaadAd (C) Fesiiend (D) d&lH |

145. The most appropriate measure of a Country’s Economic Growth is its

(A) GDP (B) NNP

(C) Per Capita Real Income (D) None of these

Toreft g1 sht 3Tffeh Tgfg 1 Tailereh IUgH HIY & 35! -

(A) GDP (B) NNP

(C) fa safe arferss 3ma (D) ¥ 9 s &l
146. The friction in a flowing fluid is called

(A) Density (B) Surface Tension

(C) Viscosity (D) None of these

Teh YaTa! ot H TY9T haedTdT & :

(A) =7 (B) U3 HE (C) ¥gMal (D) 0 9 HIs &l

147. Velocity of sound is least in

(A) Rubber (B) Carbon dioxide
(C) Oxygen (D) Air
T T I T 3 -
(A) @H (B) hTeA Sr3ATHITSS
(C) ATefisH | (D) sy H
148. Which type of lens is used in correcting astigmatism ?
(A) Concave lens (B) Convex lens
(C) Cylindrical lens (D) All of these

ST ol QT i H fohH SRR o1 ¥ S 21 § 7
(A) A TE (B) I[AE  (C) SRR eE (D) I ot
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149.

150.

151.

152.

153.

154.

Sodium lauryl sulphate is a common

(A) Glass (B) Cement (C) Plastic (D) Detergent
TifaH AT Hethe & Teh T

(A) ®E (B) = (C) wfEeeh (D) feesie
Milk is a/an

(A) Emulsion (B) Colloidal solution

(C) Colloidal system (D) Hydrophilic colloid
TURTH :

(A) I (B) hreTrg! forerm

(C) =hieTg! a (D) TIESIfthicTsh HIcRIS

The jelling of juice in overripe fruits is due to the presence of
(A) Glycogen (B) Cellulose (C) Gum (D) Picric acid
3T Teh %l H T8 I Sieil H AT BIH <l SHRUT ITH HISG :

(A) WEHSAE | (B) He@Nig |l (C) TR | (D) Tufsres 3t B |
Which one of the following snakes is a non-poisonous snake ?

(A) Rat snake (B) Rattle snake

(C) Sea snake (D) Himalayan pit viper

e d g e ad fovg ad g 7

(A) TEHd (B) ‘e |y

(C) -ud (D) TewTerit fie argw

A sex-linked disease, commonly known as bleeder’s disease is
(A) Anaemia (B) Leukemia (C) Haemophilia (D) Diabetes
Teh T STTId T HTHT=IT sefted AT 8 STHT ST 8

(A) Tt (B) Th{H (C) Fmifpfern (D) sHfsd™

The only source of light in the deep sea is

(A) Lunar light (B) Sunlight
(C) Bioluminescence (D) Radiation
T IR | ThATH Jehl E1d & :

(A) I5yd®  (B) Wy™  (C) SEcgm-Ed (D) T
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155. A boy running towards south, turns to his right and runs. Then, he turns to his
right and finally to his left. Towards which direction is he running now ?
(A) North (B) South (C) West (D) East
Teh IS GIAT0T <hl 3R SIS &1 &, 3T Sife! 3R a1 8 3R Sred &, Rt 9@ 1
e SR ASA 2 SN A A T e i ¢ | S o fpm fem i Qs w1 8 7

(A) I (B) gf&m (C) wir=m (D) w

156. Govind is 48 year old. He is twice as old as his son Prem is now. How old was
Prem seven years before ?
(A) 13 years (B) 14 years (C) 16 years (D) 17 years
Mfg 48 T I 2 | 98 30 YT T i SYH AT 2 | A1 Iy g I Fera a et o 7
(A) 13 =d (B) 14=d (C) le6ad (D) 174

157. Gauri Kund in Himachal Pradesh is located near

(A) Dharamshala (B) Manali (C) Renuka (D) Manimahesh
et wew § M Fe fereeh Ty fa & 2
(A) oI (B) AT (C) T (D) wHowR™

158. Which one of the following districts of Himachal Pradesh does not fall in the
Inner Himalayas ?
(A) Kangra (B) Hamirpur (C) Sirmaur (D) Mandi
Teur=ret Tew =1 fre O 9 i 91 Ueh et 31es fgarer™ o st=aiid 981 31dr @ ?
(A) Tl (B) BHRY (C) fawR (D) #el

159. Sansar Chand was the famous ruler of

(A) Chamba (B) Kangra (C) Guler (D) Jaswan

HYI ¢ Yiég 2 o :

(A) =w (B) Mg (C) TR A (D) SEaH
160. Which of the following fairs is a state fair ?

(A) Bhel fair (B) Nalwari fair

(C) Bada devi fair (D) Chakrana fair

fr=ferfad wetl § & % 1 T T AT ? 7

(A) WS Tl (B) d@@idal  (C) STt dal (D) <shul-Hell

161. The First Official World Bicycle Day (WBD-2018) was observed on which
date ?
(A) March 3 (B) April 3 (C) May3 (D) June 3
e MRt fova Arafere feam (WBD-2018) forar fafdr =t wamem mam e 7
(A) 3,9 (B) 3,30 (C) 3,78 (D) 3,5
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162. Who has been sworn in as the new Prime Minister of Italy ?
(A) Matteo Salvini (B) Sergio Mattarella
(C) Giuseppe Conte (D) Luigi D1 Maio
3t oh U JUTHA] o €9 H foheH @ A 8 7
(A) Afesn aifest(B) |fSisti aete (C) Td o= (D) qht fe wmgan

163. Who has been named the Most Valuable Players in the 2018 Indian Premier
League (IPL-11) ?
(A) Rishabh Pant (B) Shane Watson
(C) Sunil Narine (D) Trent Boult
gfogad R &1 (IPL-11) 2018 H ¥ JoIa™ RGeSl H MM g3 8 7

(A) HIY Id (B) IdRET  (C) A IREE (D) = diee

164. Which Bollywood personality has launched the twin pit toilet technology ad
campaign for the Swachh Bharat Mission (Grameen) ?
(A) Bhumi Pednekar (B) Akshay Kumar
(C) Aamir Khan (D) Amitabh Bachchan
Wes vRd firee (smfion) @ foe foam fue erere Camtasht Tg S1fimm o1 Ry

fehd SIS i oh G |HI—T §aTT ?

(A) i veds  (B) ATIPAR (C) IJMPRE@H (D) IHa™ g

165. Those who count other’s help generally lose the game.
(A) about (B) above (C) around (D) on

166. Antonym of the word ‘Opponent’ is
(A) freedom (B) liberation (C) restraint (D) ally

167. Meaning of the idiom ‘Halcyon days’ is

(A) long days (B) short days
(C) happy and peaceful days (D) disturbed days
168. 911 I 7
(A) STefehud (B) <igshud (C) dIeteh (D) 98

169. ‘3G H g BT BT Y &
(A) ®EEAT  (B) g@iedn  (C) SgaHeddl (D) $H 9IS 6

170. 3G I &
(A) I (B) 3TeHH (C) 3o (D) 31eRA
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